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Instruction : First 15 minutes are allotted for

the candidates to read the

question paper.
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Note : i) All questions are compulsory.

1) IHlustrate your answers with
labelled diagrams wherever
necessary.

i) Marks allotted to each question
are given against it,
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Choose the correct option and write In

your answer-book :

According to recapitulation theory

i) life of each animal starts in the

form of an egg

offspring resembles its parents

i1} ontogeny repeats phylogeny
1v) regeneration of the damaged
parts of body. ]

Amoeba belongs to which class of

Protozoa ?

1) Opalinata

1)  Mastigophora
ni) Cihata
1v)  Rhizopoda. |
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D)
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Which one of the following is a type

of tissue ?
1) Liver
ii) Blood

1i1) Alimentary canal

iv) Pancreas. 1

Type of bones of birds

1) elastic

il) without calcium

iii) solid and hard

iv)] porous and filled with air. 1
| Turn over
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2. Write zoological names of causativ
_— 1
agent and vector of filariasis. 2+
3. WG T H SEEAA ad & A" g
3. Write the name of oxygen carrier 1
human blood.
4. TIAA G qW AT G [afvF 9T F AT
A fAfEn
Hedar
HI7 FIfIHT FT AHiTH =7 a9=90 |
4. Name various types of canal systen
found in sponges.

OR

Make a labelled diagram of a choanocvte
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Name two oviparous mammals.

A I W uhwmer Afw @ e TH
FeTeYoT faf@u

L
+2

b=

Define vestigeal organ and give one

1
+2

b f—

example of it.

Grms U el wed € 2 A d W @

&0l feg R S & 2 1+1

What is infectious disease ? How does

infection of rabies take place in man ?

1+1
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Write four main points about DNA

L 1,1, 1
fingerprinting. 2+3+5+3

fefeifigd 9 4§ el o &+ S AAFE ATE

feifaw @en a7 @ I FETO HiT

bodeded
i)y
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832709



9 376(YS)
9. Write the zoological names of any two of
the following animals and classify them
L 1. L d
up to classes : 2Y v T2
1) Apple snail
i) Frog
i)  Housefly
iv)  Pigeon.
10, f=1 & FRor qary 1+1
1) T qo« FE, T
i) ween awg 2@ ¥ fer o WA @t @
e £
- 10. Give reasons of the following : 1 +1

i)  Whale is not a fish but a mammal

1) Echidna lays eggs even then it is a

member of class Mammalia.
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Make a neat and labelled diagram of

Euglena and mention its animal traits.

1 +1

12. Fefaf@a 5 @ a e W ezt

12.

%”l’iﬁr{: 2
i) TIfd W
ii) foega ggerE

Write a short note on any one of the

following : 2
1) Pacemaker

1i) Electrocardiograph.
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13. Differentiate between hereditary and

acquired characters and give one

P |

example of each. 1+ 3+

OR

What is mutation ? Write one example of

each of spontaneous and induced

1 +=+

e
]

mutations.
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14. Name any two insects of economc
importance and mention the use of their

products for the benefit of human being.

1+1

15. =3 % T g O fAfEmad @ . away

£l
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What arc  meant by nteiacions i

between anmimals 2 Write the ey of
main interactions  among  anals,
Explain  with the help of suitable
examples, the social organisation
present in some animal species. 1 + 1 + 3
OR
llustrate the structure of Watson and
Crick’'s model of DNA. 5
 TEfemEs 9 @ B @ o ogige fewon
ferfiae - 25+ 23
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16,
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" r

d@El A afpEE OtWdl 0 3l J99ig0

-~

qYE USR F d=hEE ufsm & 9 ay
3% g Afad &m0 F1 Ioo7d FIA0 |
1+ 1+15+1%

Write short notes on any two of the

following : 2% + 2‘%
i) Blood clotting

1) Glycolysis

1) Sex determination

)  Canal system.

OR
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What do you understand by endocrine §
gland ? Write the differences between
endocrine and exocrine glands. Mention
the names of various endocrine glands
and the hormones produced by them.

1+1+13+13

—miye—— sy
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